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(10 Marks)

Let the functions f (x) - G - 3x and g(x) = :v\' 2x-3
a) Find the domain of the functions / and g.
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b) Find (f + g)(-2) and compute the composition(g . f)(x).
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c) Find the inverse of
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3) Prove thatx * 3 is a factor ofthe polynomial Zxa * 6x3 * xz * 2x - 3.
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4) Find all possible rational zeros of the polynomial 4x6 -4x2 +3x-2.
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QUESTION 3: (8 Marks)

Solve the following equations:
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2) Find the value of x using Cramer rule for the system
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3) Using Gauss-Jordan method, find the inverse of the matrix
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